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QUESTION 1

Oracle SOA Suite is being used to virtualize service calls to a third-party human resources provider. The planned
service payloads will require minimum transformation. Routing is simple because service calls will be mapped one-for-
one to existing third-party services. Which two components should be used to handle this service virtualization?

A. BPEL Process

B. Proxy Service

C. Mediator

D. Business Service

Correct Answer: AD

QUESTION 2

Which two statements are true about standard dashboards?

A. Workload dashboards report on completed instances.

B. Performance dashboards report on in-flight instances.

C. By default, there is a 30-minute delay for workload data to be reflected in standard dashboards.

D. By default, data never ages out of the process analytics database because it is not periodically purged.

Correct Answer: CD

QUESTION 3

To support the deployment of a new provisioning system, a company wants to install and configure a production domain
with Oracle SOA Suite and Oracle Service Bus.

Which statement is true about the required effort?

A. Separate domains must be configured for Oracle SOA Suite and Oracle Service Bus.

B. The Oracle Repository Creation Utility (RCU) must be run twice to create the required schemas.
C. The installation of Oracle SOA Suite includes the installation of Oracle Service Bus.

D. A supported version of WebLogic Server must be installed before installing Oracle SOA Suite.

Correct Answer: D

QUESTION 4
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To avoid the purchase of new server capacity, a company must limit the volume of messages routed to a
computationally expensive RESTful service operation.

Which Oracle SOA Suite component can help the company meet this requirement?
A. BPEL process

B. Mediator

C. Proxy Service

D. Business Service

Correct Answer: D

QUESTION 5

For a particular asynchronous interaction, Oracle SOA Suite hosts two BPEL processes. One BPEL process acts as the
client and the other acts as the service. Between the two BPEL processes, what is the smallest number of invoke
activities that must be defined?

A0

B.1

C.2

D.3

Correct Answer: D
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